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M C

relative CIELAB ( af , b} ) diagrams of the systems: ORS18, TLS18, NRS18, SRS18

AdaptedCIELAB data LCH*; of maximal coloursM of the systems: ORS18, TLS18, NRS18, SRS18

Fernseh-Licht-System: TLS18

Offset Refektive System: ORS18
b*

H*, = 52 degree
4
H*a0=138

H*ac = 236

Fi*ay = 305

Natirliches Refektiv-System: NRS18
*
H*a’_] =92

ap;
H*a =162 )

H*, o = 217 \\

H*ap = 272

Standard-Refektiv-System: SRS18
* = b*
Hay =90 4 H*, = 52 degree

T~
Har=150 )

H*, = 52 degree
4

H*a.0= 30
ar

Ha,c = 210
e H*am = 330

H*ay = 270

Offset Refektive System: ORS18
by

Fernseh-Licht-System: TLS18
by
LCH*3\=(73,75,52)

LCH*3Mm=(90,92,96) LCH*3=(93,87,103)

LCH*,=(84,108,137

LCH*3=(69,77,52)

LCH¥a=(51,72,151) LCH*,=(48,83,38) LCH*,=(53,87,35)

*
ar

LCH*3=(48,76,354)
LCH*3=(87,46,196)

*
ar

LCH*,M=(59,105,328)

LCH#q=(59,54,236)
am TCHa\=(36,115,304)

LCH*,\=(26,54,305)

Nattrliches Refektiv-System: NRS18
by
LCH*3\=(56,65,52)

Standard-Refektiv-System: SRS18
by

LCH*3\=(56,77,92) LCH*3\=(56,77,90)

LCH*,\=(56,67,52)

CH*a\=(56,77,150) LCH#=(56,77,30

*
ar

L
LCH*,\=(56,77,25)
a*

d

LCH*,\=(56,77,162)

LCH*,=(56,77,217) LCH"am=(56.77.210)

LCH*3w=(56,77,329) LCH*3=(56,77,330

LCH*3\=(56,77,272) LCH*3\=(56,77,270)

YE990-3

YE991-3

olv* or rgb* data of maximal coloursM of the systems: ORS18, TLS18, NRS18, SRS18

RelativeCIELAB data tch* of maximal coloursM of the systems: ORS18, TLS18, NRS18, SRS18

Offset Refektive System: ORS18 Fernseh-Licht-System: TLS18

b% oivtay s=(1, 0.24,0) b*% olvtay 55=(1, 0.25,0)
0.24=(52-38)/(96-38) 0.25=(52-35)/(103-3
4 V'

olv*3ym,38=(1,0,0) olv*3y.35=(1,0,0)

olv¥3m,96=(1,1,0)

olv*3m,151=(0,1,0) /

0lv¥3m,105=(1,1,0)
olv*am,137=(0,1,0) _~

[

d
olv*3v,106=(0,1,1)

*
ar
olv*3m,354=(1,0,

0lv*3m,326=(1,0,1

olv* =(0,1,1
3M,236=( ) S ram 506=(0,0,1)

0lv*3m,305=(0,0,1)

Naturliches Refektiv-System: NRS18 Standard-Refektiv-System: SRS18

b* * - b* =

*, — r rgb 3M,52—(11 0.4,0) *, — r 0|V*3M 52—(1, 0.37,0)

gb*3m,02=(1,1,0) 1\ 0.4=(52-25)/(92-25) olviam 907(1,1,0) # 0.37=(52-30)/(90-30
e

’ —~~
/ ‘ X 2100 0lv¥3y,1567(0,1,0), ya %ohﬁmwza,o,m

b
ar a%

rgb*am,162=(0,1,0),

0lv*3m,216=(0,1,1)

rgb*am,217=(0,1,1) rgb*ay 326°(1,0,1)

olv¥3m,330=(1,0,1

rgb*am,272=(0,0,1) 0lv*3m,270=(0,0,1)

>)

Offset Refektive System: ORS18
by

Fernseh-Licht-System: TLS18
by

tch'y=(0.5,1,96) tch*y=(0.5,1,103)

tch*y=(0.5,1,52)
. tch'y=(0.5,1,137)_—

tch’y=(0.5,1,38)

tch*y=(0.5,1,52)
v {
tch\y=(0.5,1,151) / tch*,=(0.5,1,35)
ay
tch*y,=(0.5,1,354)
tch*=(0.5,1,196)
tchy=(0.5,1,328)

tch*,=(0.5,1,236)
tch'y=(0.5,1,304)

fch*\=(0.5,1,305)

Naturliches Refektiv-System: NRS18
b*
tchiy=(05,1,92) 1 '

av
tchiy=(0.5,1,162) ‘ /

tch%,=(0.5,1,217)

Standard-Refektiv-System: SRS18

b*
tch*,=(0. * r
w=(0.5,1,90) teh*y=(0.5,1,52)
e

™~
tch*y=(0.5,1,150) /
tch*y=(0.5,1,25) %

* /
ax

tch*=(0.5,1,52)
e

tch*,=(0.5,1,30)
ay

tch*,=(0.5,1,210)

tchy=(0.5,1,329) tch’y=(0.5,1,330)

tch'y=(0.5,1,272) tch%,=(0.5,1,270)
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BAM-test chart no. YE99; Colour image reproduction

YE991-7
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Adapted and relative CIELAB data of ORS/TLS/NRS/SRS18utput: no change compared to in
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